Math 5A Q4 2.2-2.5

20 points

Key points from section:

Simplify  f”(x) includes:

No complex fractions, No negative exponents, Combine fractions

Label f(x), f'(x)
Sometimes it is easier to simplify f (x) before differentiating

Notice, you can check your answers to derivatives using online apps, but that may not replace your work.

(1) The graphs below are of a function and its derivative. Clearly label which is f(x) and whichis f’(x)
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2) Differentiate the following functions and simplify
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3) Differentiate the following functions and simplify (6 points)
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Slope = 1/,

4). Find point(s) on the graph of f(x)= x—_i for which the tangent line is parallel to the Iinem
X+

then use a computer graph to illustrate your conclusion as thoroughly as possible. Attach screen shot.
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